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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 Damping off is a most serious disease of . mefe S iR
A Mango Hw

B Papaya et

C Guava e

D Banana Far

Which part of power sprayer is having a disc with number of

Q.No: 2 holes including one hole in the centre is used to break the IR BRR ¥ 54 iR & 3% ¥ Rl $% 7 Ue &< 9Rd &% 8% ¥, WA 1 aifod B 7 die ok Well a% ugam & g Iudim faan s 32

liquid into desired spray and deliver to plants?

A tap qdq

B Nozzle et

C Strainer st

D Dripper Rw

Q.No: 3 Bulk population breeding is suitable for: i a1 yor s e Suged 87
A Flower crops Fel B mEd

B Vegetables crops afer) #t wadt

C Fruits crops vl @t

D Small grain crops B T arelt wEd

Which process of landscaping reduces the need for

Q.No: 4 irrigation and is gaining acceptance in many regions as R0 @ S W wlsar R 3 saxaear H1 F17 FA § A0R FF & F Wl wrd F ) T ®ife R F orh 3 vga e et o -

access to irrigation water is becoming limited

A Xeriscaping Eliscaig

B Water sorption Eckicced

C Gardening Eiucicit

D Raised bed gardening I3 areht ammart

Q.No: 5 The process of consciously choosing courses of action from available alternatives and T B ST el § ¥ w1f o1 et T SR aifdd aedl B i 7 & 3% 9 3% Wied
integrating them for the purpose of achieving the desirable goals is known as: FE, T8 UipaT et

A Decision making forofa

B Adoption ST

C Monitoring PR

D Evaluation b it

Q.No: 6 Pungency in radish is due to: et & et aorg & e g 22

A Allypropyle disulphide TR SIRHTRES

B Sinigrin fafafm

C Capsaicin i

D Momordin B
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Q.No: 9

o N w

Which among the following is an example of micro-economic variable?
Employment

Consumer's Equilibrium

Aggregate Supply

National Income

The most commonest agent responsible for rodent poisoning used in India is
Phosphides

Neorat

Ratol

Neogen

Education cause:

Change in knowledge, attitude and skills.
Change in knowledge

Change in attitude

Change in skills

Fofafed § | 7 W@ Yea-1iiE TR o1 IR 3?2
AR

IYYitaET BT AgaT

Ty mgfd

g g

I H IuAT T IR a1 s Rwmadar & fog Rrder e g wie Rl
BIFPTES

FraRre

LG

e

fRren et 2:

T, TRTior o T # ufads
A & ufvad
=t § whada
it § uRad

Q.No: 10 The science which deals with the study of the cause of plant disease and nature of the causal @ S R % S Gt @ S SO o) FRE wie @l m P T %_

o 0w

.No: 11

.No: 12

.No: 13

Q.No: 14

o0 w

Q.No: 15

agent.
Etiology
Philology
pathology
Epidemiology

4 H club was established in:
Japan

America

Canada

Russia

Alemow is the rootstock of
fig

Plum

sapota

citrus

The earliest pesticide was a yellow oil with a disagreeable smell and bitter taste is
Pyrethrum

Margosa

Bitter almond oil

Nicotine

Fruit drop in citrus can be control by the application of
2-4-D

IAA

IBA

GA3

Policy formulated by the Ministry of Water Resources of the

$fsffafn
foreieirsht
Aairaielt
werr fagm

4 H &d &1 Rl Bl B 718 A
ST

ST

TS

TG P FI R SIS T Ui a1 o ol v o4fiy Ty 3R wgan w@ie gar &
LIE

wmitar

TS A ST AT

fEcanic]

WECH A Gdll F 92 3 5 i &y @ Fafa B o e 32
2-4-3t

Eloy

sédiy

a3

Government of India to govern the planning and development of  SId TIEAT @) derT SR RAFRI 3R ITd FoaH Iudh & FERT $33 F RIT HRD TWEHR & A I FA1d gRT IR 3 T A ]

water resources and their optimum utilization is
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Q.No: 20
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Q.No: 21
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Q.No: 22

o 0w

Q.No: 23

o 0 W

quf o waa

Rainwater harvesting policy

National Water Policy it wa Hifa
Water prevention policy Eckicic K]
Water control policy s fordaror =ifa

Method of removing dust and other particles from water using filters.
Rainwater harvesting

Filtration

Oxidation

Desiccation

Which one is not a method for water conservation-
Bamboo dripping irrigation system

Kunds

Avoiding water wastage

Groundwater extraction

An ideal solution for tackling water shortages
Water pollution

Drilling deep bore wells

Deforestation

Controlling population growth

The participation of people in extension programme is:
Compulsory
Voluntary

Involuntary

Mandatory

Extension programme planning is a:
Effective process
Administrative process
Educational process

Uniform process

Which soil fumigants are pesticides when applied to soil, form a gas to
control pests and to sterilize the soil.

Thiram R
Vitavax frerdam
Bavistin afafee
Methyl bromide forurga sugs

Pollination in fig is carried by
Wasp

White fly

House fly

Honey bee

Which is energy mobilization towards the attainment of the goal?
Motivation

Planning

Programme

Reconsideration

fheex BT ITAT X TR ¥ 4@ R 3T B B ge Bl -
quf o g

Freie

Eichica

[EECicac

S W0 3 P W R R
g TqH= ardlt Riaré womeht
£l

it 3 Fafdt & awr

o fredor

ol Y Fh A Ao & Riw o smed -
ST gt

TR dRda Wt 3R

T B wer

e 9fe Bt Frdfia s

TR erfesw H @it bt wrlierd gt @:
sfardar (Compulsory )

WfRF (Voluntary)

sfse (Involuntary )

arer arferardar (Mandatory)

IR iHH @i &:
wurdt whiar

T g wfEar
T Qe whiwar
TE WHH wfEaT

B & a1 vttt e €3 & o gl § I oA 2, 9 @1 P 9 ok Bt o e B ¥ Ry e w81

3o A RO 5 gRT v S g2
o

Wibg Wt

Eccl

Y AR

aea i it 1 fewn & Frafafda & 3 frw S @1 smazaea gt 82
SR

e frafor

W

AR
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Q.No: 32

Most suitable material for canning of vegetable is
Plastic

Tin Plate

Aluminium

Glass

The chemical which are used to kill mites comes under
Rodenticide

Pesticide

Acaricides

Fungicide

Mango pulp is preserved by
Ethylene

KMS

Citric Acid

Sodium Benzoate

A short series of lectures involving 2 to 5 speakers is called:
Conference

Workshop

Symposium

Seminar

Most important and productive wheat contributing zone is

Peninsular Zone
Central Zone
North - Eastern Plains

North Western Plains

Apple crop thrives best within the

40-45°F

30 - 40°F

45 - 60°F

25 -40°F

temperature range:

The tank capacity of hydro-pneumatic sprayers contains pressurized air and water, it
delivers water within a selected pressure range of

100 liter
1135.5 liter
2000 liter
750 liter

Who advanced the gene for gene concept of disease resistance and susceptibility in the year
1946

V. Ramiya
John Gaumann
B.Muller

Flor

Which spray can completely control the Rust of linseed which is a common disease of flax

Botron

aferdt Ft Remed & o T Iuga T 2....
s
a1 9t IR

Tyttt
Ricud

1 H) TRA ¥ e Wi fran S aren 3 3 S aof F e 2
Fa® =it
Freamit

Lsutsiesss
ExcTini

3 & T B o i @ uffEra far o @2
lbcic]

HTATH

Wit

wfam Fsige

ST 31 T S s R 2 § 5 g i 87 €, 3 o1 o 8
Earzy

it

Rrforas

IR

g e ¥ walfis weeagyl g 23 arr 89 §

wrghdta &
W &
IeR-gdf A
I ufiedt dem

BEEiR |

40 - 45°F

30-40°F

45 - 60°F

25 - 40°F

AT e & R T it aRe e R:

TG SRR 1 TF &mar F gaTd arelt gan iR arl e 8, 7 3 Jufd ga @ &
aficR ot TgaTa 21

100 fiex
1135.5 few
2000 fex
750 fiex

¢ 1946 & I Uy iR WaeTeher F1 S e@uRw & g SiF 1 e 399 e
. iftrar

w4 R

Lik:CH

wR

FH T RN B G B I e | Frifa FR gFa & 5 ot I o o i 2
A
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Q.No: 35

Q.No: 36
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Q.No: 37
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Q.No: 38
A

B
C
D

Q.No: 39

o 0w

Q.No: 40

Vitavax
Borax

sulphur dust

Bearing habit of mango is
Mixed

Auxillary

Terminal

Lateral

The basic unit of Extension work is:
Community

Society

Family

Individual

Which technical organisation that functions as
part of the Ministry of Jal Shakti in the
Government of India providing consultation
to various state governments on water bodies
related issues

National rainwater conservation
commission{NRCC)

Central Water Commission (CWC)

National water bodies conservation
commission(NWCC)

Water bodies conservation
commission(WCC)

National Average productivity of wheat is
1.2-1.4t/ha
2.0-2.4t/ha
3.0-3.5t/ha
5.0-5.5t/ha

Which of the following is an advantage of rainwater harvesting?

Cause waterborne diseases
Storage limits and supplies
Decrease in ground water level

Flood mitigation

Number of wheat growing zones in India is
4

15

10

5

Soil erosion can be prevented by
Increasing irrigation

Deforestation

Growing plants to form a soil cover.

Allow grazing,

Bromalin enzyme is obtained from
Date palm

Pineapple

W Y

3 & wer 1 ugh S g2
fafi

i

efifa

arsf

TR & B} snere T B @
e

FT

aRar

wfe faa

B I qHN WIS HRG WHR § o1 Wfad Haerd & B & w0 F o1f axar § St o Fopmdl § el g2 W Rftm 150 Wer &1 R wem $3d 2-

Y auf S TR STERT (NRCC)
Fifta ot sman (gt
Iéta st FyeTa e smdT (Nwee)

s frera wRemr smatT (wee)

g 3 AE M FeeRA §
1.2 - 1.4 T/RRW
2.0 - 2.4 T/FRW
3.0 - 3.5 TI/FRW
5.0 - 5.5 TI/TRW

asf o1t e 1 Pl 3 @S- e
Srerefera I g1 BT

AR i o amgfe

AT WX A

arg =it

HRa H I e A & 3 Wem
4
15
10
5
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Riaré # gf

Tl B Ferd

Rt 1 araror T F Rrg @Y 3T
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STAfeF T e T @ e B 87
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Q.No: 46
A
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Q.No: 47
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D

Q.No: 48
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Custard apple

Gooseberry

Fore runner of C.D. programme is:
Gurgaon project

Murthendum project
Sevagram project

Etawah project

Pre cooling of fruit and vegetables is done at a temperature of

What type of pesticide sprayer is used for row crops?
Air-blast sprayer

Ultra low volume sprayer

Spray angle

High volume spray

Which forests play a very important role in maintaining water balance of the soil and
atmosphere and play a protective function and conserve soil and water?

Alpine forest

Temperate forest
Sub alpine forest

Tropical deciduous forest

Which are called traditionalists; they mostly don't follow new ideas.
Laggards

Late majority

Early adopters

Innovators

Aldrin is the broad-spectrum insecticides and
Inorganic compound foam

Oil compound as spray material

Organic compound as spray material

Emulsifying solution

Drip irrigation method is used for-
Sublimation

Rain water harvesting

Water purification

Water conservation

An example of the market classified on business basis:
Retail

Raw material

Secondary

Terminal

.. FriwH P wgd B
TgiE giEeE

gdTew uRaeET

Jaram ufgie

FeTar ufdierET

el o ot @ -l .. F AT W B R 3
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.No: 50

.No: 51

.No: 52

.No: 53

.No: 54

.No: 55

.No: 56

An equipment used to apply pesticides at high speed by

the electric motor and are operated usually with Internal  f3gUd HieR gR1 3= MR R FTeARIS] S A1 F & 1T ITRT a1 T a1 JuaR0 3R AR W HiaRke g4 397 & Ty danferd dar g

Combustion engines

Foot sprayer Te R
hand sprayer BTy VR
Power sprayer TR BR
manual sprayer aaarﬂw

The pesticide used in agricultural soil for termite management
Endosulphan

DDT

Malathion

Carbofuran

ATIC has been initiated with:
Intensification and diversification of technology
Diversification of agricultural technology

Intensification of i

Single wi of

Famous variety of mango for pickle
Langra

Dashehari

Mallika

Ramkela

The central food technological research institute is situated at
Tamilnadu

Mysore

Chennai

Goa

Black heart is a physiological disorder of which crop in which an internal
defect caused by low oxygen and high carbon dioxide levels

Chilli
Potato
Cabbage

okra

Which technology is an ideal for the management of plant diseases and has

been a widely used eradication strategy.
Physical factors for control
Biological management for control
Chemical reactions for control

Integrated disease management

How much gallon of water can be used in new toilets according to Federal plumbing

standards?
0.5 gpf
3.3 gpf
1.6 gpf
5.9 gpf

& vaeE & e R g & v Fteas g 8

TEer
sin
Aenfar

FTEERA

ATIC 3 o301 379 s oy it 18
wrefirat Ft werar ofik Rfadtevo

P MRt #1 Rfadewo
wrenfafar e

iRt R @t River fiet sraamon

3 # B @ B 9ER & R uig 22
o

el

aferer

FNY T THNE STHY Y el R 2

aftrarg

s
ke
v

AP g 50 HOa 1 T TRING RER § PR 7 sifwfion ok 39 F1F SRiass & TR & SR sifaike v & g

ford

ST
mft

ST

T G qalie Nefl 3 Al F v & R e e @ 9k e w9 | TR $t O ardt 3 WAk @ 31

o ¥ forg +ifoe s
Fordror & R Sifaw wdv=
fortror & fore wrmafare wfafrang
TP A

0.5 Sfidiew
3.3 sidfigw
1.6 SiidiTw
5.9 Siftew

B WM A F HFER ¢ et 7 e Ao o @ Iud fan s v 87
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.No: 63

Q.No: 64
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Which type of climate favour in origination of rat which destroy crops
Polar

Tropical climate

Arctic climate

Desert climate

Which natural compound, used as an insecticide and a herbicide and is
derived from the roots of Lonchocarpus species.

Pheromone Lz
Nicotine [Ecanic
Rotenone Riceic]
Malathion e

The operating pressure of fan nozzle, which is undesirable and the nozzle does not work
satisfactorily below

A short duration crop in between the two seasonal crop is termed as:
Companion crop

Cash crop

Inter crop

Catch crop

Which Government policy focus on five aspects -- water conservation and rainwater
harvesting, renovation of traditional and other water bodies, reuse of water and recharging
of structures, watershed development, and intensive afforestation-

Swachh bharat mission
Jal Shakti Abhiyan
Jal niyantran abhiyan

Jal samagan abhiyan

Newly received or noteworthy information, especially about recent events is called:
News writing

Ideas

Reporting

News

The components of programme planning are:
Simple

Complex

Easy

Short

"Cyber extension” means:

Extension through computer
Extension through group approach
Extension through NGOs

Extension through use of television and other mass media

TR B IR A R TPR S IR B § S A B A B & 1
i

SRty srearg

Sdfed werarg

IRt ey

P T IFhE AE, & Pl R 16 Wt F w0 F w5 o @ R e wonfy 3t et & e g 81

TR & Ao BT YEe A, S e § R e A AR oS 21 S T Bl §

3 iRl el F o B 9 o el B el # wed . ExiiciE]
weartt waa

THE B

SR B

SRt waa

WHR F FH W A uiT vgqel W HRA T - Fa W IR auf w1 G, Wl @R 9= T
Pl o1 T, T BT g ST 3R WReEelt 31 gk, aeRds e ok e aHtesr-
W WRA e

e wfd fimm

& forror st

e wATUT ST

TN U T IAG, TR G TeAGHH &) YT 1 e Al o
TAER d@

R

Redifér

TAER

W & o P & o 9 8
YR

wfew

T

g

TR R ®1 anf §:
FugeR F Y fawm

g TRw & mem 9 R

NGO ¥ wif¥e favar

TR o oy F-wTwH & Wiy R
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The best method to convince people is:
Video

Classroom teaching

Group discussion

Demonstration

The efficient irrigation system used to conserve water in agricultural field.

By applying drip irrigation method
By increasing filtering unit
Unnecessary watering to the land by tube well

Flooded irrigation

If a commodity has a greater number of substitutes, the demand for this commodity will be

?
More elastic
Less elastic
Perfectly elastic

Inelastic

Keeping free microorganism from food or food product is known as

Filtration
Separation
Asepsis

Removal

Which process is used to clean water using filters?

Pasteurization

Purification
Sublimation

Rainwater harvesting

Bunchy top in sugarcane is caused by:
Top shoot borer

Root borer

Internode

Stock borer

Budget which considers estimates of costs of returns form the farm as a whole is:

Enterprise budget
Complete budget
Family budget
Partial budget

“Ascent of cell sap” from root to the tree top is exercised by:
Lenticles

Xylem

Phloem

Cambium cell

Layering is useful for propagation of:
Garlic

Sugarcane

Rose

Lemon

A B TN BT HGY ST a8
difsa

BT AT

g Taf

wew

S &7 A I Waw & fAw Iwdm ) 91 alt Fa R yomeh
Ry Riré v @t ang

fpeefi gfe Terey

TR GRT Y B SEIAS T U &

arg Riarg

of 5 g & = 3 Sen ofiE 8, @ 99 wg I Em

i g / TEfRe
T HegE/ TaR®

o e 9 dagw/ wRs
wagF/ Tafks

1o T1 WIel JE BT GeA Sidl B G TG4 B ... g1 91l 1
sdie]

JuERRIT

AR

g

R P51 ITGNT FX& U BT W HA & R0 [ wfan &1 Iuan fa s 82

QIERTFORA

I T @it e
auf s HaaT

T s <t frad SR g 82
2T e IR

€ I

fragicS

Racainsd

g ote 7 ¥ @ A e At ufie @1 AT $ SFT R RER e o 8, S $Ed R

I T

R aWE
uifvafis awe
i T

13 & I3 A AR 3% M 75 BRI T P SRIgU F1 FM fhaes grRT e o g:

St

e
wEH
Hftemm da

uin
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The computerized disease assessment training programme is

a computer program for training people to estimate disease  HRILAFT AT Yeuic URIET FIFHH AN B A F TRl R A7 @t 7R BT A T F e wiRenr 33 & g uw doge Wom @

severity on cereal leaves

bromochloropropane AR
Distrain FSW
Das-Elisa qre-uRrEn
chloropicrin TR

Soil application of Palcobutrozol is recommended in mango orchard with commercial dose of 3 & &N 31 g} § UGS @) ol a9 GRS STaq &1 RpIRG &1 St H

10-20g/tree
15-25g/tree
4-5 g/tree

30-40g/tree

Which is the outcome of the Golden Jubilee Celebration of ICAR's service to the Nation.

Lab to land programme
ICDS programme

C.D programme

IRDP programme

Alternate bearing problem in mango can be controlled by the application of
Cycocel

NAA

Cultar

GA3

Controlled observation is:
Affected by bias or prejudices
Study of social problem

Free from bias or prejudices

Study of social situation

Agricultural fields which are used as rainfed storage structures are called:
Tanka

khols

Khadins/Johads

Kuls

Artificial hybridization in fruit crops in the world was first practiced by
Thomas Knight Andrew

Fairchild

Camoreous

Morgan

10-20 IH/%§
15-25 /%5
4-5 /3T

30-40 TW/US

Roffed # 3 o9 33 ) Ja1 A TSR & ies guel I FRiwH o 3

A9 g o BrdwH
1CDS TRwH
C.D. TTdmH
IRDP STdwH

LIS

31 3 A5IXS W B gr g sy F R [ o e 82

i s g 2:
qats a1 vgmTa | |
AIRAS THRT BT AT
afas a1 vereRar & g
e uRkfRufa @1 sruras

FiY & fomsT IT IR HSRY IRl & Fu F R S 2, FEan 8

k£28

e
@rfe/wieTe
i

Ry A well 3 wuel § FRT G0 $1 w0 G g g gr fban mar ur?

fer g U§Y
FUARS
Seiiaw

il
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Q.No: 86 Terracing is an effective method of soil conservation in which area

A

B
C
D

Q.No: 87
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Q.No: 88
A

B
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D

Q.No: 89
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Q.No: 90

Who invented world's first self-propelled sprayer and is founder of Hagie Manufacturing in

1947

Ray Hagie
John Clark
Muller

Rachel Carson

The Best breed of a goat having long ears originally found is:

Sirohi
Jamunapari
Barbari

Gaddi

Rasins are developed by
Citrus

Aonla

Grapes

Custard apple

Which is called as the ‘King of Cereals”
Rice

Maize

Wheat

Sorghum

River line
Desert plain
Coastal

Hilly area

What are the non-green heterotrophic plants called?
Mosses

Algae

Ferns

Fungi

Which is the best way to conserve water at home?
Taking shower with less water

Not taking shower

Dry cleaning method for personal hygiene

Taking shower with more water

Winter banana is variety of
Mango

Banana

Apple

Guava

The Extension of scientific knowledge to villagers by specialists of the same area is known as

the principle of:
VLW

R 31 & Ued W@-aIit TR &1 ISR a1 3R 1947 & it Sl & Ywws € a8

W ® 9 A 1 O Al 7 Sl arelt a6 B qed ol T B
Rdt

SEATRY
Echi
S

Rt 5 wa & o et @2
e

taen

SR

Ririnal

T *3(TS1 BT ST BT Al &

maw
s
g
T

SR e & H TR W 1 TH qHIE TG 3-
Eciksal

Yt Aem

aérg

RIS &
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w

HAD

WA U I TGS T ThBT S 6 22
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Q.No: 91

o N W

Q.No: 92

o N w

.No: 93

Q.No: 94

Q.No: 95

o N W

.No: 96

o 0 @ > 0

.No: 97

O 0N w>»r o0

Q.No: 98

BDO
Local leader

Farmers

Which of the following is an instructional device in which the message can be heard as well

as seen?
Audio-visual Aids
Audio Aids

Projected visual Aids
Visual Aids

Which of the following method is the best for selection of a leader?
Psycho-metric method

Socio-metric method

Statistic method

Bio-metric method

Which is a Central Sector Scheme of the Ministry of Jal Shakti to improve ground water
management through community participation ?

Well Recharge Programme
Accelerated Irrigation Benefits Programme
Atal Bhujal Yojana

Watershed Development Project in Shifting Cultivation Areas

Power sprayer, pressure pump is operated by a small power unit with a constant steady
pressure from

Application of gypsum is required more for:

Groundnut
Berseem
Paddy

Lucerne

Which drip irrigation has the potential to save water and soil nutrients?
Under and by surface drip irrigation

Under surface and Under drip irrigation

Surface and Subsurface drip irrigation

Top soil and Surface drip irrigation

CA storage stands for

Class A storage

Combined air condition

Completely Air conditioned storage

Controlled atmosphere storage

*Pusa purple round’ is a variety of brinjal:
long duration

Short duration

BDO

R Agasat

Profafea 7 3 i (ERm IJuasur 3 93w & §A1 & a1 3 o o g @2

Sifea-Rger vgw
ST Tgw
A R wgw
frger Tew

Fofifed 7 3 & 0 Aasd & 557 2 3dis R &2
wrgt-Afg faf

aRm-aRe fafy

wiferata faft

Ay fafy

T wrfiar) & e @ E v § guR & R o & deww St S 83 3 dem o 9@
[

9 et v

wfa Riar @ srdfww

S YW YT

Bt & B RiAia F # aevde e afdemn

TR IR, IR U7 TF 1 el ST g wenf g @ R R RR ge g @-

]

..............  sife R & Sud 9t smaadm g 1

2 3y e 3 ol ok gt & v il ) Far @ e €2
wae & A R e w fw Riard

wag & M o Ry Riwré & aga

wagt 3 Iuwag v R

e firgh o e Ry René

Wi @R 1 o &2

7R AR BT ¢ WS

WY AT

o RE & TEEgeE WSRO

frifa araraRor & sigRor

T Ta IS AT B izl
<t sty
e rafiy
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e High yielding F=l IUS areht
Very low yielding gd W IUA Al

Q.No: 99 Which of the following says that the marginal product of a factor input initially rises with its  FBRIGT & 5 ST F1 RA 2 {5 T $RS MM H1 Wwid IJAE AU T 303 I F R F A

employment level. But after reaching a certain level of employment, it starts falling? el 1 Af IudhT & v Fifdd R 96 U & 918, I8 $H g1 @il o7
A The Long Run <t eraflr
B Law of variable proportions L IEECERIS SUTd ST Fram
C Law of diminishing marginal product srAH dhra Sare @1 faw
D The Short Run e 3@y
Q.No: 100 which method is adopted by individual house owners for rainwater harvesting? AfRATG 7HT TR gRT asf Sa T & o S-a Al oroers s @
A Underground storage of water arft 1 ‘@Tl?f HSR
B Roof-top rainwater harvesting o4 F SR Ul 9 T
C Construction of new water reservoirs Y o e &1 i
D Construction of ponds ararat o1 fAmfor
Q.No: 101 The river Brahmaputra has its origin from - SRGA T BT IGH Pl F o 32
A Pindari Glacier s RfmR
B Chemayungdung glacier AAGTET RRER
C Kazi N Glacier FTo T AR
D Hari Prabat Glacier R yura /R
Q.No: 102 How many members are nominated to the Rajya Sabha by the President of India? UYRA & IR GRI I & g fobem) werwdl &) wita o wiman 82
A 8 8
B 10 10
c 12 12
D 14 14
Q.No: 103 The Preamble of the Constitution of India does not use which of the following words? YR AU F e A Fefifea § 3 5w weg 31 0w AE a2
A Dignity it
B Equality HHET
C Fraternity TR/ UTEART
D Justice [
The President of India appoints the Chairperson of the National Human Rights
Q.No: 104 Commission, on the recommendation of a committee, Who is not a part of the HRd & TFU T WY @t Rt R Wflg AFaTieR smi & sieae 3 Pgfda oxa €1 31 affa @ fRww @l 82
Committee?
A The leader of Opposition in Lok Sabha gyt & fage & Aar
B Minister in-charge of the Ministry of Law P AT & wuTd T
C Minister in-charge of Ministry of Home Affairs g WA F yurdt weht
D The Prime Minister b crEl
Q.No: 105 z:z?:z;f Directive Principle of State Policy has been taken from which of the following T ¥ A e o @ ReR eRied # @ R 3w @ o mn 22
A Australia Sifwferar
B Ireland HTRAS
C Uk ke
D usa YR T ST
Q.No: 106 The Bidesiya is a theatre form (or a dance-drama) of which of the following states? Ry fPafifea A @ 6 IsT 31 0 A1ed ¥ (31 W6 TI-ACF) 77
A Bihar fasr
B Assam R
C Maharashtra HERTE
D Karnataka FAfed
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Q.No: 107 which of the following states is the Bharatnatyam dance indigenous to?

A Karnataka

B Maharashtra
C Kerala

D Tamil Nadu

Q.No: 108 The term ‘Albion Round’ is used in -

A Archery

B Judo

C Equestrian
D Polo

Q.No: 109 Which year has been recorded as the year when the first Olympics was held?
A 801 BC

B 754 BC
[of 776 BC
D 792 BC

Q.No: 110 Other than Madhya Pradesh, the Chambal river runs through

A Chhattisgarh
B Maharashtra
C Gujarat

D Rajasthan

Q.No: 111 which of the following is referred to as the Prime Meridian?

180 degrees Longitude
90 degrees Longitude
45 degrees Longitude

o N WP

0 degree Longitude

Q.No: 112 The Agni Nritya or the fire dance is performed in honour of -

A Saint Parasnath

B Saint Jasnath

C Saint Pranabanand
D Saint Harshananda

.No: 113 What should be a horse’s age if it has to enter the Kentucky Derby?

5 years

Q
A
B 3 years
C 2 years
D

4 years
.No: 114 The Fort Aguada was constructed by the -
French

Q
A
B Portuguese
C Dutch
D

British

ot & & few Toa & RaTerm T wWadh 82
Fles

WERTY
I

Ygd Sicife & S fbar mar ur?
801 $ur gf
754 $aT g
776 Sarqd
792 ST qd

T YR & e, da T B Toreh 81
EaiucE:t

HERTg |

ToRE |

R &

Fofifed & & f6d v TR w1 S 82

180 Ref dmiew
90 fauht Amiar
45 f&ft 3mier
[cpikeucd

&if 7 s TmA § e o 27
A IR

i Y

W YorETE

¥ gufie

Few) 3 A 1A B % Rig 93 2 39 @ g ARk
5 9T
39
2 9T
43

SargT st ot Fmfor freds gR faan ra are
e

el

E&l

fafewr

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the one which can be substituted for the given phrasal Verb.

Q.No: 115

All the students chipped in and bought a set of books for the newly admitted child.
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o 0w >

o 0w >

o N w >

o

o 0w >

.No: 116

.No: 117

.No: 118

.No: 119

.No: 120

.No: 121

took away
carried
contributed

stole away

Out of the given options, choose the most appropriate one to fill in the blank.

The river its banks.

overflows
have overflow
have overflows

has overflow

Fill in the blank with the correct preposition.

We're really bad predicting future costs of our assets.
on
in
at

for

Parts of the following sentence are given as options. Identify the part that contains a grammatical error. If there is no error, select 'No error'.

We aborted our vacation this summer when the car breaks down.

this summer when

No error
the car breaks down.

We aborted our vacation

Fill in the blank with the correct article.

She has not said word ever since her return from London.

No article is required.
the
an

a

Out of the four alternatives, choose the one which can be substituted for the given words/sentence.

A person who is recovering after an illness or medical treatment.
Athlete

Convalescent

Rebel

Altruist

Parts of the following sentence are given as options. Identify the part that contains a grammatical error. If there is no error, select 'No error'.

I was at a party with some my friends in Mumbai.
No error
with some my

friends in Mumbai.
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O N @ >

Q

o 0 @ >

Q

o 0 W >

Q

o 0w >

O

o 0 | >

o 0w >

.No: 122

.No: 123

.No: 124

.No: 125

.No: 126

.No: 127

I was at a party

Out of the four alternatives given below the sentence, fill in the blank with the correct word.

The girl
do

forty minutes of aerobics every day.

done
have done

does

Parts of the following sentence are given as options. Identify the part that contains a grammatical error. If there is no error, select 'No error'.

Uttar Pradesh accounts for about 16 per cent of the country population.
country

Uttar Pradesh

accounts for

of the

Out of the given options, choose the most appropriate word/set of words to fill in the blank.

He a chair for his professor.
pull

has pull

pulled

have pulled

Parts of the following sentence are given as options. Identify the part that contains a grammatical error. If there is no error, select 'No error'.

Many of the countries are not acting fast enough to controlled climate change.
No error

controlled climate change.

not acting fast enough to

Many of the countries are

Out of the given options, choose the most appropriate word/set of words to fill in the blank.

The balloon, gently up into the air.

have rise
rose
have rose

has rise

Identify the segment in the sentence which contains the grammatical error from the given options.

It was in the primitive oceans that life begins almost 3.5 billion years ago.
years ago

oceans that

Itwasin

life begins

Page- 16



Q

o0 w >

o 0 @ »

Q

Q

o 0w

.No: 128

.No: 129

.No: 130

.No: 131

.No: 132

.No: 133

.No: 134

DIRECTIONS: In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence. Choose the correct

alternative. In case no improvement is required, choose "No Improvement” option.

Margie speaks not only Spanish but German as well.
with German

German too

No improvement

also German
Fill in the blank with the correct article.

We went for walk.
a

no article needed

the

an

Rhizobium bacteria present in the nodules of roots of leguminous plants help fix which
of the following mineral in the soil?

Sulphur
Zinc
Nitrogen

Oxygen

FeflgR et Bt ST 3 el F Hive esiferm aeifan Fofifaa 3 3 frae! R 3 & 1eg wRaT 92

When a copper vessel is exposed to moist air for long, which coloured coating is acquired on 9 T AR B T B e B U0 B o T e < o 2, A T W e T A g 7

the vessel?
Greenish
Silverish
Bluish
Blackish

Which of the following can be used for road surfacing?
Bitumen

Kerosene

Petrol

LPG

Which one of the following is an example of chronic disease?
Asthma attack

Pneumonia

Elephantiasis

Common cold

E--

FuRifed & Q R gud Ag wHRin $ R far o gwa @2
fagha

frdt &1 d@

W

ool

i & @ SF-a1 il 3 &1 S @7
SR BT ERT

o

Tt feair

T e
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Q.No: 135 Doctors use which of the following instrument to measure our heartbeat?

A

B
C
D

Q.No: 136

o0 @

Q.No: 137
A

B
C
D
Q.No: 138

A

B
C
D

Q.No: 139

A

Q.No: 140
A

B
c
D

Q.No: 141

o 0w

Q.No: 142

o 0 @

Q.No: 143
A
B

Thermometer
Sphygmomanometer
Stethoscope

Oximeter

In which country was it discovered that silk fibre can be obtained from silkworms?

England
China
Saudi Arab
India

Which one of the following diseases is Trypanosoma cruzi the causative agent of?

Sm-TSP-2 Schistosomiasis
Chagas disease
Human Hookworm

Leishmaniasis

Radioactive waste comes under the category of:
Biomedical Waste

Municipal waste

Non-biodegradable waste

Hazardous Waste

The enrichment of water with nutrients such as nitrates and
phosphates that triggers the growth of green algae is known as:

Eutrophication

Gasification
Biomagnification

Incineration

The bile juice is stored in a sac known as which of the following?
Rumen

Alimentary canal

Gall bladder

villi

e TR R 31 4S5 3 90 & g P 3 A 5y Iueu &1 Iudi & 32
mifter

PR

RURFT

SifRfier

T forg 21 A wiom w1 5 Ywm F I F W & ¥ v 5y o wwa 97
.

Eist

WA ORT

URA

frafafia & & few a0 ®1 oRe R Tt 82
HrH-Aradt-2 R

AR T

T ghad

AR

el et Fufafad § § fw aoft & o @2
Sa Riftre sraRig

TR o &1 el

e Prfteuita srafle

FERATD JURTY

T AR Wi I NvF T F T U 1 HaEE S gRa Jara F R 1 1R vem s R, Fofi@a 7 9 7w o 2

g

W9 smafT

for v o Aef) 3 S S 8 R Fafaf@a & 3 e am @ s S 82
A

ST AT

g

RHIPY

Which of the following form of energy stored in an object due to its position relative to some B & 3 e TR 3 gt it T Bt @ R % e oot RA S e A %7

zero position?

Only Kinetic energy

Only Potential energy

Both Potential and Kinetic energy

Neither Potential nor Kinetic energy

The process of breakdown of glucose with the use of oxygen is known as which of the

following?
Precipitation
Aerobic respiration
Cellular respiration

Anaerobic respiration

What is the colour of the middle zone of partial combustion of a candle flame?

Yellow

e et FHert

Faa HIfda St

Wl iR e Tt Y

T it e o 7 &t wifers St

SRV & I & T F ger 3wl B Pafifea & F R wv F s o g2

o

wifaw o
IR g
SATgHT

Timel T & i T F W & 18T S g §2
e
Eil
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.No: 144

.No: 145

.No: 146

.No: 147

Red

Orange

Which of the following is a non-volatile memory?
Cache

Primary

ROM

RAM

*Chrome’ is a software.

Operating System
Application
System

Utility

Raw, unprocessed facts, including text, numbers, images, and sounds, are called

product
data
applets

metaware

Which among following organization is concerned with databases?
Asus

Motorola

Intel

Oracle

Q.No: 148 which of the following are the sub protocols of E-Cash system?

A

o 0w

.No: 149

.No: 150

.No: 151

Withdrawal, Payment and Deposit
Deposit
Payment

Withdrawal

Paint programs keep track of every
object

Image

Pixel

color

One Gigabyte is equal to
1000000000000 bytes
1000000 kilo bytes
1000000000 mega bytes

1000 bytes

Deleted mails from the Inbox can be found in,

Spam
All Mail
Promotions

Trash

placed on the screen.

58 @ P9 @ A - ddeEa A9 (non-volatile memory) 82

ﬁ'%g’ﬂ

T, sFvEia qudl, urs, demsdl, ofd, ok wfidi eftd, $i___ dwromard

product
data
applets

metaware

Frafafea e & 3 3 w Seew § wafia 82
Asus

Motorola

Intel

Oracle

£-33 Ren & 3 WeweTa (sub protocols) & § FH-WR?

e, yee ok s
s

Yrar

@ frmare a1 ef @ -
1000000000000 aT$T
1000000 et arde
1000000000 AT AT$E
1000 a1

S A GO M AT P W I o W §
Spam

All Mail

Promotions

Trash
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Q.No: 152

o9 N w

.No: 153

.No: 155

Q.No: 156

o0 w >

Q.No: 157
A

B
C
D

Q.No: 158

A

B
C
D

Q.No: 159

A

B
o
D

Q.No: 160

.No: 154

is software which has its source code freely available for use, viewing,
modification, and redistribution.

Free Software
Source code
Free code

Open source

ROM is often referred to as "
Software
Hardware
Firmware

Malware

e dEfines rules regarding the values allowed in columns and is the standard
mechanism for enforcing database integrity.

Trigger
Index
Constraint

Column

What is the name of the portal in computer, which allow additional devices to connect?
Secondary

Primary

Peripheral

Optional

Which of the following is not related to e-mail?

Pine
SPAM
BCC

Excel files are also called by the name of ______.
Spreadsheet

Worksheet

Spread book

Workbook

Four

Eleven

IBHt
hTBI
IBtH
LBTh

Find the missing number in the series.

72000, 36000, 12000, 3000, 600, ?

_ U Sigedm 3 R 9 B - Iwn |, @, TR SR gAfdaru & g W v
 Iuae Bl 8

W Hiredw
o Bis
w3
ST R

ROM &1 7m: » " & F H I S g1

W

............... BT & offwd WAl & ey A Fram uienfid et § 9k ey ymfwd & anaa &
e w7 R

Trigger
Index
Constraint

Column

Hugex A IY QA Bl 741 A el 7, W ARG IuHROll B SirgA B Sl Aar @2
Ish

g
Lrias

SR

o A ¥ o §-Aa 3 Hefda T @2

g
m
Ll
LEd

Excel files @ =W § + S Sfren B
Spreadsheet

Worksheet

Spread book

Workbook

e W SB d BN

72000, 36000, 12000, 3000, 600, ?
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A 100 100
B 160 160
C 180 180
D 150 150
In the following question, select the related letters from the given alternatives. ﬁ"}l s ff, ﬁv m et § 4 dafta siert $1 99 B
Q.No: 161
FJ: MR F): MR
A CG:JOo CG:Jo
B JL: SV JL:sv
C MP: WZ MP:WZ
D DK: LN DK:LN
Find the missing number in the series. mﬁqﬁmﬁﬁﬁﬁml
Q.No: 162
48, 24, 36, 90, ? 48, 24, 36, 90, ?
A 415 415
B 115 115
c 315 315
D 215 215
From thg given alternative words, select the word which cannot be formed using the letters ot fedl 7 78 T IR S R TG 31eE B iaR) T T 3 e S o S 2
Q.No: 163 of the given word.
DHARAMSALA DHARAMSALA
A ARAMANA ARAMANA
B MASALA MASALA
C RAMA RAMA
D SAHARA SAHARA
o160 o ok o™ R, R o4, b G B o w3y e o b
between point K and point B? ! ’ :
A 10m 10 Hex
B 6m 6 ey
c 2m 27w
D am 4w

Q.No: 165 l:’
A IT : NY IT: NY
B LR:PY LR:PY
Cc HK : DR HK : DR
D FR:LS FR:LS
Select the term that will come next in the following series. I T FT 9 Y, S FfaRa y@an § spren s
Q.No: 166
LP, NS, QV, UY, ? LP, NS, QV, UY, ?
A YB YB
B ZB ZB
C YC YC
D ZA ZA

Q.No: 167

A North-east IW-gd
B South-west afgror-ufim
C North-west IW-ufim
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D South-east afdor-gd

lla started from a point and walked towards north a distance of 4 m and takes a turn 3o U g & T o R oIk IaR @1 9k 4 Hiex 31 g8 79 Tl 3R R St ok uw e
towards right and walks a distance of 3m and again takes a left turn and walks a distance of R 3R 3 X F gt a& Tl 3R PR aMY g o 3R 6 Her Bt A T ol B1 ST G T

Q:No: 168 6 m. She then takes a 90 degree turn towards her left and walks a distance of 3m. How far 3T a7 3R 90 f3f &1 Hirg &t § ol 3 Mex 31 gl 7 o 3, @ 98 9 oA IR g & Wdy
and in which direction is she now with respect to her starting point? A frart g8 W 8 R fr Rzm A @2
A 8m, West 8 iex, ufim
B 10m, North 10 iR, I
c 8m, East g er, ©d
D 10m, South 10 e, afémor
Find the missing number in the series. Preriefs i gste: e kil
Q.No: 169
10, 2, 25, 42, 68 10, ?, 25, 42, 68
A 12 12
B 11 11
C 15 15
D 14 14
. Which of the following options will complete the given series: ami bl B A A W fawen byl BT
QNo: 170 B B _B_BA_A_B__B .
A ABABBA ABABBA
B ABABBB ABABBB
c ABBBBB ABBBBB
D ABBBBA ABBBBA
Select the term that will come next in the following series. I T HT T X, S FHfifEd y@en F oTen smemi
Q.No: 171
AZ, GT, MN, 2, YB AZ, GT, MN, ?, YB
A SX SX
B SH SH
C KF KF
D TS TS

Q.No: 172

A 235

B 175 175

[+ 145 145

D 110 110
A basketball team played 120 matches In a year & won 623% of the matches. Next T AR O 120 AT T A Ik & A 6237 AT A ¢ 5 77 T AT

Q.No: 173 year it wins some matches continuously. It wins % changes to 90%. Find the no of e ek 213 3@ e & e 90% 2, @ PR Shaw Im o At & e A
matches team won continuously. i

A 330 330

B 500 500

C 600 600

D 750 750

A 500 500
B 600 600
[ 100 100
D 350 350
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Q

o 0O @ »

Q

o 0w

QO

o nNn w >

.No: 175

.No: 176

.No: 177

.No: 178

.No: 179

.No: 180

.No: 181

.No: 182

In what ratio must tea at Rs. 62 per kg be mixed with tea at Rs. 72 per kg so that the

mixture must be worth Rs. 64.50 per kg?
3:2
5:3
4:3
3:1

In a group, there are 65% men. 35% of the total members are literate, of which 45% are women. By what
percentage is the number of illiterate women more/less than that cf illiterate men?

57.92% less |
45.34% more
18.86% less

22.22% more

Which of the following expressions has the greatest value?
[4!})-1.'2]2
(257
2y
("7

P is five times as large as Q. The percent that Q is less than P is?
90%
80%

85%
75%

If 23971 = B—lx then the value of n is:

)

-2

6 kg of tea at Rs. 6 per kg and 4 kg of tea at Rs. 7 per kg are mixed togetherand
the mixture is sold at a 10% profit. What is the selling price per kg of the mixture?,

Rs. 6.38
Rs. 7.04
Rs. 6.28
Rs. 6.94

16
14
12
9

62 7 i fradiom 3t 9 &1 72 30 Wl frelam el 9 & a1y 59 srgara ® framan s g

a1 wr fisror 64.50 T wfa e €
3:2
5:3
4:3
3:1

57.92% 7|
45.34% ¥UF
18.86% &

22.22% HU®

Fofafea ¥ § frw sl o1 998 951 7F @2
[40)-1'212‘
(24|
(@'
@y

P U T ST 8 Q A Q fra yRm@ A & P 32
90%
80%
85%
75%

79
85
82

76

afy 2=t =8%;-§,ﬁ‘rnmmg
3
-2
o
2

¥, 6 9fd fam 7 A1 6 fvam AR E. 7 9l foam a7wa &7 4 Rman am @) smew A B
10% a7 @R a1 a1 B Feror @ ofy R e &= @

T T H, 65% T & W T TGN H F 35% WeR ¥, A § 45% AT § A a3
Rt €1 Foar swag et & qeer § R v wA @ sfuw 32

¥.6.38
¥.7.04
¥.6.28
. 6.94

16
14
12
9
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Q.No: 183

on w >

Q
A

B
C
D

Q

o n0 @ >

Q

A

.No: 184

.No: 185

.No: 186

.No: 187

.No: 188

.No: 189

.No: 190

Two vessels A and B contain Acid and water mixed in the ratio 5 : 2 and 7 : 6 respectively.

Find the ratio in which these mixtures be mixed to obtain a new mixture in vessel C
containing Acid and water in the ratio 8 : 5?

3:4
4:3
5:6
7:9

Find unit’s digit in (26" - 11%7), if 'n’ is a natural number:

n oW

A shopkeeper sells three products A, B and C. The selling prices of A, B and C are in the
ratio 6 : 8 : 9 respectively. He makes 28;% profit, 33 %% and 35% profit on selling A,
B and C respectively. If the overall profit on selling three products is of Rs.85 What is
the total selling?

Rs. 260
Rs. 415
Rs. 320
Rs. 345

9 R e 9 A e Rieg a1 v T o man @2

G A 1 F FE, 3T W SIS
R R

srgaru g

sreaferm R

oof e e

JERU M P 2P F @ B it & fywifera e o W 31

g% *4

frefaifaa 7 Q Ay & AR BH 82

FrAfifEd § ¥ F9-w v, Im e
wid

T

Eaibct

WY

REEGTEAH_ UWER B a8l

“ %44
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